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8 B3, TYPDPY 8 IJNYI), HTR PRANYY BN (on 1 BB R 2) B ITTE Tonw  QONT
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POnRoT IR 1 BIR WwBoBITT),
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POLNT, B TF, TonR WIT TRFCH TFH/IWIY LBNADT FLTY IROITR.  VPFITON I9AT RTT,
23, B3l BPIRY WIT WITNIR WOFNTH, BT DY.

There are EIGHT questions divided in two Parts (Part 1 & Part 2) and printed both in KANNADA and in ENGLISH.
Question No. 1 and 5 are compulsory. Out of questions remaining, THREE are to be attempted choosing at least ONE
question from each section.

Answer must be written in the medium authorized in the Admission Certificate which must be stated clearly on the cover
of this Question-cum-Answer (QCA) Booklet in the space provided. No marks will be given for answers written in a
medium other than the authorized one.

Part —1
won — 1

@ ‘C’ Ltd. which is to commence its operations on 1% April 2009 proposes to produce 36,000
completed units during the coming year 2009-2010.
200938 Haef 1 SO 23, To0IPFITROND, SToRTBeFT ‘C’'wowy ToBIOR DLW
03R0T 2009-108 IRFTY 36,000 TRF ORWILFNEI), LWTVHIT MOOONT, BHONDT.

The following information is supplied.
83 TYNT WL IONT), LTNILRNT.

(i)  Unit cost structure of product at current levels
ABT DYDY WIZT oRITT B, B5S FTLTR)

4

Raw materials 3259, AN 2.00
Wages Re3INGO 200
Variable overheads BI0DAOD LITTE, 200
Fixed overheads INOE LIT I,

(Including 1.00 depreciation) | (¥Po, @ Tw. 1/~ %ed) 1.50
Profit SEES 3.00
Selling Price JIP08 TT 12.50

(i)  Stock of raw material- 1 month’s average consumption.
Stock of work in progress- 1 month’s completed units.
(Materials fully supplied but 50% converted)
Stock of finished goods — 1month’s completed units.
The stock of finished goods is valued at factory cost on FIFO basis.
3239, AN, TR — O SONnY ITeFO wWEE



(@)

(b)

3.
(a)

(b)

(iii)

(iv)
v)
(vi)

FOONF TEOH AP — | oNnY TpdF ORRIWTNAW (TN, TREdFTON
mssx@ems%, B33 50% DOWSFITONT)

BREOFRROT BT oA — 2.0 SONY TREFRRYAT oPwANRW. FIFO ©503a
e TROFANYAT OIS, T900FS IYERY IPOTPLITONG.

Credit period allowed to customers — 2 months.

Credit period allowed by suppliers of raw materials- 3 months.
MBTON ©NFT JRT TOT PR — 2 30N

3259, MIDNNG BHRTFHIC00T WM SICRT WOT ¥R — 3 ONRW.

Lag in wages and overheads payments — 1month.
BeIINYY QY0 BB LTT TT FOTIORNH — 1 Sonsh.

cash sales 20% and cash purchases 20%
INTD B[00 20% W INTo DO 20%

Minimum cash balance required 210,556 and safety margin 25%.
sa@ IR PFOD 6:97135 Sw. 10,556 303y ATFI0 W& 25%

Prepare the statement showing working capital requirements on cash cost basis.
INTD dz;d BB S000 0SS ToONFHCY WOTBTOY BONENTI, 3RCOT/  TBePFORI),

clesvplel-N (60 Marks)

Answer both (A) and (B)  (A) =02 (B)wv3da.

Describe the methods of measuring the national income and Explain the difficulties in the

measurement of the national income.
TOREOD  BTHOOD  [RTI DTOTNYR),  DWOR W) TN  STOD TPTVITYTD

3ROTINT, VTOX. (30 Marks)
(Not more than 400 words) (400 IBNRER WeTTOI)

and =08

Describe the reasons for the growth of MNC’s in India and make a critical appraisal of MNC

operations on Indian Economy.
POTBTY WITIREOD FODING B3YTLIRR TTNTI), LIOY =B

o033 $HFIBON 3 MNC R 500350 33BN QRTEZF W de@. (30 Marks)
(Not more than 400 words) (400 BTRER WeTToO3I)

Answer both (A) and (B)  (A) =02 (B)ww3da.

Explain the different provisions under FEMA for Regulation and Management of Foreign
exchange?
NWEBE QAVONT  AdnFTH BB 80330\%5@% Bowopawod FEMA ©&80hds 03

OIFINGTY, DTOA. (30 Marks)
(Not more than 400 words) (400 ITRER WeTTOI)

and GWEN]

What do you mean by International Business Environment? Explain the International

Business Environmental factors?
POBTTIXLOD B[t FJOXT elnteldelnd) e:vc;f’)ss-‘zbaa? ©@OBTTORCOD [owd BTOATT
= =

©WOINTI), LTOR. (30 Marks)
(Not more than 400 words) (400 ITRER WeTTO3I)



4.
(@)

(b)

(©)

Answer (A), (B)and (C)  (A), (B) &3 (C) nort evgoa.

Managerial economics consists of the use of economic modes of thoughts to analyse business

situations? Explain.
VLD FOTPFNRYR, SSREVIOD SHFT SRTONYD, WIE [P BRYTOTT OFFIOIY)

DFERPYT DTOX. (30 Marks)
(Not more than 400 words) (400 BBINYR WeTTOI)

and =08

What are the measures to stimulate private investment in our economy?
SHFTEONY 00AN BEO TRPFODT), WIERAT TN, DWOA.

(Not more than 300 words) (300 TTRPR aweTTOI)

(15 Marks)

and GEN]

From the following information furnished by a dealer in Chennai, Compute the amount of tax

payable under CST Act. The sales tax rate is 14%.
B BY QT JIETPH B8 FYTOR [TPLIODTY, IR, A.QF.E F0H, TFOT 0N 2T,

6’@5}23@@713%&3 QDO eﬁﬁﬁ T0d. RJ0TORT 301 TWT 3esmo 14% ado%d.

Interstate Interstate
Sale with Sale
C form without C
Clelcieiept form
BRTew A’ | ©0ITTw
Baplele) Boo0es ¥’
B3R 000 VYT
S;g;‘;;g;vg&m 16,00,000 | 7,00,000
Gross turn over includes the following Packing charges
Qe [WOE  Bs é@ﬁﬁ@ﬁ@&i zﬂérirao@dogd Sspkiielny 3.500 1,500
WDEN
Design charges
QT DWFND 1,500 800
Trade Discount
TG TS 800 300
zljiggorts 2,40,000 -
Freight (shown separately)
S0 AR (JZeswmon 30edT) 2,000 700
Freight (not shown separately)
S0 AR (TZeFmen 3pe0IQ) 18,000 13,000
Goods returned within 3 months
3 301% HBOONY TN LOITHNATHFT 1,500 1,200
Installation expenses (Shown separately)
m@déoﬁa DWF (T eTON SREVAT) 5,600 5,100
Goods rejected within 8 months
8 80M¥ .97 BT IBTOFVLHHI 3,000 1,600
;ﬂgg;’;zg’eg;?g; 9,000 8,000
Commission for additional sales 3,500 1,500




%z&;ﬂd@ Mm@s§ N e

Excise duty
28 23 O (30) 1,50,000

50,000

(@)

(b)

(@)

(b)

(@)

(b)

Goods worth Rs. 70,000 were sole within the state
70,000 BRTDOW d;’%mio Uou?scs = ate] mm@smﬂmgd.

(included in gross turn over of Rs. 7,00,000)
(203, [T D@t Tw. 7,00,000/- T ﬂeadogd.)

Part — 11
on — 11
Answer both (A) and (B)  (A) =02 (B)ww3da.

(15 Marks)

(30 Marks)

Taxation policy in Indian context needs a comprehensive review. Outline your views.
$O0BE FOTHFTY B0 QeSO TN, TWTTvRSREIIT 6:97135&)63. AT, AT, IRTJBA.
(Not more than 400 words) (400 ITRER WeTT0O3I)

and 0@

Distinguish between ‘Tax Planning” ‘Tax avoidance’ and ‘Tax evasion’.

‘301 G3newd’ Fok 3D I, BOANYES' ¢ FHI0 FIAI,

89 A.

(30 Marks)

(Not more than 400 words) (400 BBRER WeTTOI)
Answer both (A) and (B)  (A) =02 (B)ww3da.

Explain briefly the Modigliani and Miller approach to capital structure.

OTIOY TBIR FOWOHATOZ RPBN0IT WY VYT [TRAFNTTY, FOFTON DTOX.

(30 Marks)
(Not more than 400 words) (400 ITRER WeTTOI)

and GWEN]

What are the similarities and dissimilarities between public finance & private finance?

TORFBAT DEOTOA m@i S00AN TLOTOAING I YV® BRCDF m@i

55@?3371%3633‘?

(30 Marks)

(Not more than 400 words) (400 BTRER WeTTOI)
Answer (A), (B), (C)and (D)  (A), (B), (C) == (D) nert evgoda.

How has FDI helped in India’s development?
NTESC WOBRZOY TRRFOIN T e.—vapd@@@ﬁ TR BTOONTIONT?

(Not more than 250 words) (250 IBINER WeTTWOI)

and GWEN]

(15 Marks)

Write the methods of computation of value added tax with demerits of each method.

@% BRFS BOR0DIY, e%é TOB NG APOINTRODN
OIPVIRONTTR, WIOWO.

TSRO ATIT
(20 Marks)



(©)

()
(i)
(iii)

(iv)

(V)
(vi)
(vii)

(viii)

(d)

8.

(@)

(b)

(ix)
)

(Not more than 300 words) (300 ITRPR WeTTOI)

and &2
Under the Wealth Tax Act section 2ea, State whether the following are assets or not
83 3YBOTRRY AOI) 0N F00K TFOT (ATT® 2VD) BANW T TP VB 39R.

Motor van shown in the balance sheet as fixed assets.
WOIRSPIOM masws{l SR 3N w%mQ %@maoﬁmﬂ 3RCOBOONT.

Gold, Silver, Precious Metal held by a Jeweller.
2.0) G0 [T WY AWB/ VI, zﬁ%’)@ D), BSeE deeBENW.

Air crafts held by King Fisher Airlines engaged in manufacturing and sale of aircraft.
DRI ONOINRE (DTTWFT) WITTI WY, IPTIRTY ZRTBNVI 0" JRTT DTG

m’o%ofm BRODNT NTJIOIND.

Helicopter held by an individual.
2.8) 3030 TITOTT" D, BRODIRT.

Diamonds, Silver and Furniture.
BRAD, 839 DB eTRCTTTOND.

Motor car used for transport of employees.
WRRLNNAY FOORMON LTOIRENTIMIT HpeETY ToT.

Gold biscuits held by HUF.
SOTR VNPT FLVOWT) TBRODWI WBIT WAZOND.

Foreign car held as an asset by business man.
2.8) SOFTOOOIN NTede TOTI, BRHOTIDN BRODTIYH.

Residential house let out for 285 days.
T DOIODI), 285 OINYR ANR FRLTIF.

Commercial complex held by Brigade Developers.
RieE FTOTO D BRODTT [0S, FOdeeor. (10 Marks)
and 2>
Explain the various consumer redressal agencies to settle consumer disputes.
no®3o méaémfmq DOTOAR NG WPFTTT BOTOT 30%71%1534 Q=04.(15 Marks)
(Not more than 250 words) (250 ITRER WeTTWoI)

Answer both (A) and (B)  (A) =02 (B) nert wv3da.

Define “Trade Cycle” Describe various phases and explain the factors contributing to

business cycle.
“DOFR0 837 B, JTHJA.  DIWT WIT ANF FYAYH, DIJ wT0 BF, IR

QeT WOINTR, VWOR. (30 Marks)
(Not more than 400 words) (400 ITRER WeTTWoI)

and GWEN]

Generally a perfect competitive market exists when every participant is a “Price taker and no

participant influences the price of the commaodity it buys or sells” explain.
TOTJPEF  APOFTT JPTLY,  GOYONLETITT gc%ofxraa.gJ PONRELNRIRCR “3T

DOTRTOTTNMLERH W) FRWTW  AYB/E  [WOIW  [RBT  AINOD e 03B
5O &EFTTTR BT WeTLRITR” DTOA. (30 Marks)
(Not more than 400 words) (400 ITRER WeTTWoI)



